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1. #&Y (35%)

In the following are the comments from Prof. Tom Marzetta, the director of NYU Wireless, on the
lingering problems with 5G. [Source: IEEE Spectrum (June 8, 2021). Reporter: Michael Koziol.]
Translate these comments to Chinese.

REPHBE:

One problem is the blockage problem with millimeter waves (5 3 3% ). Foliage (#} 3£). glass, the human body
can all essentially completely attenuate a millimeter wave signal. If my hand or my body can block the signal,
and I'm moving around, sometimes I'm going to block the signal. People aren't going to want to use
millimeter wave if that happens. One remedy is a larger number of base stations. And now that itselfis a
problem because there's a handover problem. If you lose connection with one base station, it takes a while to

connect with another one. That's an unacceptable delay.

So your next thought is, let's connect to two or more base stations at once. In one sense, that’s a waste of
resources. But on the other hand, we're operating at 10 times the cellular frequencies, so there's 10 times as
much spectrum available. You can afford to be a little bit profligate (i ¥ £4) with spectrum then. There are
then a lot of questions about how many base stations do you have in the area, how many people wanting
service, and so on, which is not at all a trivial problem.

There’s also the applications. Some of our people are looking at using 5G equipment and protocol for remote
control of robots and drones (£ A#%). When you want to do closed loop control of something, the very worst
thing is if there's a delay. When you're applying a control input, you want to have some feedback as to what
that's doing to the drone or to the robot. And if there's a delay, disaster can occur.
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3. Xikvss 25%): BEHAERFEXHF -
(1) All the child was safe.
(2} The job fair will hold on April 10.
(3) The teacher asked her why was she late.
(4] There have many animals in the pet shops.

(5} T am looking forward to see you.




